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der the following in respect of a3

1. If the sum of binomial coefficients in the 5. Consi
expansion of (x4 y)" is 256, then the non-gingular matrizx M :
greatest binomial coefficient occurs in I ‘Mz‘ = ‘M‘2
which one of the following terms? 3
: n (Mi=I1M
(a) Third T
n (Mi=IM|
1 (b}~ Fourth m. |
ect?
{c) Fifth How many of the above are corr
{d) Ninth ‘ (a) Non€
(b)) One
2 ¥ k<W24+)? <k#2 where kK I8 @ (e THO
natural number, then what is the value
of k? (d) Al three
fa) 11 ‘4)/13 N
fc) 15 (dj 17 )= cos® sin‘)"l
~| -sin8® cosh |
3. .
then what is 1f’ (% equal 10?
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the ..'a!y) 2 1 and their opposile correspondéing :
angles are i the ratio 3. L 4(2
k;’ tan | 2 Mﬂ&" L
2
16. One of the anges of the triangle is (2
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: g (3) (1) |
f/D(, - q// \4 -2

W

(a)
oA
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21. If 2 line in 3 dimensiong make
g and 7 with the positiye di:e:zf:'q
the coordinale axes, then Wha.
cosfr + Picosie - ) equal 107 -

(a[ ms Y
) ~cos®y
(o m"r
(dj ~sin?y
22. ALZ 1), B(2 5 -2) and C(4, 4, -3) are

three vertices of a rectangle. What is the

fo) 8 square units
(6] 9 square units

% the cquation of the M
(nrough the point (11 1) ang
jar to the line Whog
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;%;?’w ms-arc (3'2 1)?

e coordinate axes, ]
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28. The position vectors of three points A
he poskion ¥ Z . B
and C are d, b and ¢ respectively such
that 34 -4b +C = 0. What is /'Uj I;
. BC

equal 167

:

w

fa)
) 1:3
fc) 3:4
(d 1:4

29. The position vectors of three points A,
B and C are @, b and ¢ respectively,

where Z = (cos? 8@ + (sin” )b, What is
(a'rb)-v(zxz)o(zxa) equal 10?7

(a) (;
() 2¢

() %é

(d) Unit vector

20, et d, 3. (@) be upit vectors, What is
(@-B) equal 107
(a) O
) 1/2
e 1
(d 2
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of the first k terms of 2 5€Tiey g

2 - k, h. (4
5 5 ich one of the f )llow

?

is corfGCl
() The terms of S form an arithmet,
rogression with COMmon

difference 14.

The terms of S form 20 arithmetic
cOmMmon

()

rOgression with
difference 6.

The terms of S fo
progrcssion with
10/7.

(d) The terms of S fo
progcnion with common Tatio
11/4.

A geometric
common Tatio

(c)

m a geometric

22, The sum of the first 8 terms of a GP is
five times the sum of its first 4 terms.
1fr#1isthe common ratio, then what is
the number of possible real values ofr?

(a) One
(b} Two
f¢) Three
(d) More than three

a3. lfm'»cfocto{thcellxnatim'uz2 - kx +k=0
exceeds the other by 243, then )

) 9

i Ux+8eqand y+ % =-4, then what ¥

(x + y) equal 107
(@ 0 ) 1
) 4 d 5
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ol *24\:"
. If 5th, 7th and 13th terms of an AP are in 38, i o*ﬂd a b c /O(fo( ¥ G«d

GP, then what is the ratio of its first

A=|d e [ __ ,
term to its common difference? de ) g b i ’/Z"UJ,'@K
3 0 588 0 | 2-
9,7 (» i qA B, G D, G are the cofactors of the
b -2 O éd ,f‘ a;;me;ts a b, C d, g rcspcctivcly, then
m/a/ i,hat is bB+ cC~-dD - gG equal to?
S |
lc) 2
| X ),\"Lw ¢
(d) 3 05,,@&',‘501 5 1
J 0P g b
5. lfp‘l.qarcinAPandp,Q,qarcinGP. d -5

then which of the following statements
is/are correct? 39. Consider the following statements in
respect of the determinant
kk+2) 2k+1 1

A=|2k+1 k+2 1

. p, 4, qare in HP.
. (1/p), 1/4, (1/q) are in AP.

Select the answer using the code given 3 g ul
below. I A is positive if k>0,
1. A is negative if k < 0.
fa) 1 only 1. Ais zero if k = 0.
How j
(b) 11 only alme’ﬂ‘:raeny of the statements given
correct? ,’,(\
(¢) Both1and Il (a) None ,P,“;
b, Y axnf
(d) Neither 1 nor 1 ) One LA,
e} Two
37.  x=(1111)3, y-(loot),g and z = (110)3, three oF 3,4‘
then what I8 X -y -7 - Bxyz %0, i 02(1’0 2
equal to?
\2 3+l -1 -g(',‘l-*f)"
(@) (111100%; 3.y 0 i-1|=A+iB A
-1 -1-1 1 7.4:9(’}“)’/
(b) (10011137
;"eret.m,mwmumsoqﬂ“ X1
fe) )y ?
(d 9, ©
0 @ 6
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m"l , (@) 1 P
WW P =sin35°, g = gin25° mr=sm(—95°)ﬁ @ / (b) 2
L. (p+q+ ) Frards e &7 3
@ -1 3 (d 2
®) o s
(c) 2sinse mmm (03) s % foe P
(d) 200'85° ﬁWABCEﬁWAB
42 (Pg +qr + rp) ks s 37 13
| (@) -3/
() o
e 1/4
(d) 3/4

(0% q% 1) P
(@ 1/2

(b) 1
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Consider i i
sider the following for the thr ¢ is the maximum value of p?

that follow : ee (03) items 45. wha
Let p =sin35°% g =sin2 (a) 1
s S° and r = gin
= 8in(-95°),
( ) (b) 2
41. What is (p+g+7) equal to? (c) /3
(@ -1 (d) 2
) O ]
(c) 2sin5° Consider the following for the three (03) 1tems
that follow *
(d) 2cos5® The sides of 2 triangle ABC are AB=3cm,

BC=5cm and CA=7cm.

42. What is (pg+gr +p) equal to?
46. Consider the following statements :

(@ -3/4 : ;
I. The triangle 1s obtuse-angled
(b) © triangle.
(c) 1/4 [I. The sum of acute angles of the
triangle is also acute.
@ e Which of the statements given above
2 i 5 is/are correct?
43. i al to?
What is (p* +q~ +r°) equal to (o] E omly
(a) 1/2 (b) 11 only
(b) 1 (c) Both I and Il
(c) 3/2 (d) Neither 1 nor II
(d 2 47. What is /B equal to?
(a) 60°
Consider the following for the %0 103 c2 (b) 10s°
that follow : (© 1200
Let p=|sina—sin(a—90°)|- @ 150

e of p?
a4 ik e SR AR 48. What is the area of the triangle?

(@ 0 (@ 15/3 /4 square cm
(b) 15y3 /2 square cm

(b) 1/2 :
fd) 1 B ageee oS8
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Consider the followin
g for the tw ’
that follow : o (02) items

Thfg top (M) of a tower is observed from th
Pomts P, Q and R lying in a horizontal sxtmi“;c
line which passes directly along the foot (N)g “f
the tower. The angles of elevations of M from (;’
Q and R are 30, 45° and 60° respectively Le;
PQ=aand QR=D. -

49. What is PN equal to?

@ |3—\3)a

50. What is MN equal to?

a) [3+J3’)b

2

owing for the two (02) itemyg

he foll

Cnnsidcr .

that fo“o\\' i
s that A, B and C become

pabilitie
The p:;o are 3/\0. 1/2 and 4/5 respectively
m“"agrobab““ies that bonus scheme will be
Thc pucc if A, Band C become managers are
l:/‘9 2/9 and 1/3 respectively.
s1. What is the probability that the bonug
" scheme will be introduced?
(@ 17/45 (b) 19/45
() 23/45 (d) 26/45
s2. If the bonus scheme has been

introduced, then what is the probability
that the manager appointed was B?
{@ 5/23 (b} 6/23

(¢ 7/23 (d) 8/23

§3. The arithmetic mean of 100 observations
is 50. If 5 1s subtracted from each
observation and then divided by 20,
then what is the new arithmetic mean?

(@ 225 @) 35
(€ 425 (@ 55
54. The standard deviation of 100

observations is 10. If 5 is added to each
observation and then divided by 20,
then what will be the new st

deviation?
fa) 025 (b) 0S5
c) 075 (@) 100
§5. If PA)=1/3 P(B)=1/2 ‘;‘;
P(AnB)=1/4, what i
value of P(B|A%)?
@) 1/8 m) 3/8
fc) 5/8 (@ 7/8

17
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7 37 - 3
m =gin~} -?L A
(@) 1/4 (b) 5/12 P (x 27J
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@ 63 g 1 Oy Ay
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g6. f PWAI=13,  P(B)=12 ang
p(AnB)=1/4, then what is the
value of P(AC mBC)?
(@ 1/4 (b) 5/12
¢ 7/12 (d) 11/12

57. If two fair dice are tossed, then what is

the probability that the sum of the
numbers on the faces of the dice is
strictly greater than 77

(@ 1/3 (b) 5/12
¢ 7/12 d 3/4

58. The probability of a man hitting a target
is 1/5. If the man fires 7 times, then
what is the probability that he hits the
target at least twice?

o -
o Q)
e
o (28

9. Let X be a random variable following
binomial distribution whose mean and
variance are 200 and 160 respectively.
What is the value of the number of

trials (n)?

(@) 500 (b) 1000

(¢ 1500 (d) 2000
60. What is the arithmetic mean o

82, 92,102, .., 152 ?

(@ 1335 (b) 1355

(© 1375 (@ 139
AEBC-B-MTH /586D

Consider the following for the two (02) itemg
that follow *

3
4x
Let :Siﬂ‘] XT5nm |7
y 27

61. What is y equal to?

o sintx @ s3]

@ asintx @ ssin”()

62. What is 9y equal to?

dx
1 1
(b)
(@) o >
3 9
(d)
(c) B2 o=

Consider the following for the two (02) items
that follow :

Let the function f(x)=x2 +9.

[fix)-3
63. What is lim S equal to?

x—oOTJ—_(.;X—)—_ﬁ—j
fa) 2/3 () 1
(c) 4/3 (d) 2

64. Consider the following Statements °
I.  fix)is an increasing function.

. flx) has local maximum at x = -
Which of the statements 8V€" o

is/are correct?

(a) 1 only

(b) 11 only ,

(c) Both 1and !l

(d) Neither 1 nor 1




R 3 2 (02) veiel % fog FARTE0 08 TR0+ 11-20) s w27
Hifem -

x yiaﬁlﬂmmﬁﬁﬂ*mm.
Six), 1

fa) 0O

i'z.[.(x_) . 4 m=3.
yJ ﬂy)ahagzm% f (b) 10

65. [(16) faF s 37 fc) 20
fa) 18
) 27
fc) 54

fd) 81

(@ 40

66. /(1) f14) P ma 37 B :
faj 4
) &
) 9
d) 18

A A 1 (x) = ), 7 [ e s

;21 asa A (02) T F o gy gy g

s 5 % o, vy
2t ] m‘
Y AR S5 = 10,

e

a> 50




the following for the two (02) items 68. What is £(20) + f(~20) equal to?

Consider
that follow :
) O
The function f(x) satisfies f (f}.—. fx) for all /
y) I ;
positive real values of x and y, and f(2) = 3. (b) 10 “
65. What is f(16) equal to? fc) 20
(a) 18
(d) 40
) 27 ,
=t Consider the following for the two (02) it

that follow ©
et flx) = [x?), where [] is the greatest integer

/;4 81
66. What is f(1) f4) equal to?
[a) 4
(b) 8
e 9 - | &
(d 18




71. z‘ﬁA2+824‘C:'.=30,i".1

1 cosC cosB
Co8C 1  cosA

cos B cos A 1

1WA 7 47

(@) -1

®) 0

fc) 1 @ 2

m'qﬁmm(“"‘m“mwﬁ,ﬂ
Ericou

©® x+0? ]
o’ 1 x+0

x+1 © 0
=0

F1 % 4 (root) #4147
o b) x=1
IC) Sl (d} x=a,2

a3 (j_'z,:) P

@) -1 ) o
) 1 d 2
74. 9% x% —x41=0,9

(2 e ooy
\@ 81 () g5

@ g

76. f2 z+0 UF gfy i "‘
amp (2) + amp (z) % Fua 37

9 0 ) mn/2

) n @ 2z
77. W% A, ford 20 famd £, B .

#7

(a) 6

fc) 8

() 7
(d) 10

78. 7= DELHI % smil 91 foad wam & wafe

o g 2, frmd @i s
oy i (unchanged) 7

(@) 6 ® o
e 12 (d) 24

79. xty+z=5% uamm qtE &l (positiv

integer solutions) #1 wea) s 47

72.

73.

7a,



i EERRR T

L 2
71. If A? +B%2+C*% =0, then what is the
value of the following?

1 cosC cosB|

cosC 1 Cos/\l\
lcos B cosA 14
fa) -1 (b) O
fc) 1 (d) 2

72. fwisa non-real cube root of unity, then
what is a root of the following equation?

|x+1 @ 2

‘w x+0> 1 |=0

\(n2 1 X4 ®
faj x=0 (h) x=1
(¢ x=w (d) x = 0

. (3 +i e
73. What is (ﬁ—i) equal t0?
fa -1 (b) O
€ 1 (d 32

74. If x2 - x+1=0, then what is
1

- o) o

equal to?
(@) 81 (b) 3
© 87 IR
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75. How many 7-letter words (with or without
meaning) can be constructed using all
the letters of the word CAPITAL so thap
all consonants come together in each

word?
(a) 360 (b 300
(c) 288 (d) 240

76. 1f z » 0is a complex number, then what is
amp (2) + amp (Z) equal to?

fa) O (b) =/2
fc)g ™ (d) 2=

77. How many sides are there in a polygon
which has 20 diagonals?

(a) 6 () 7

/8 (d 10

78. In how many ways can the lcm of the
word DELHI be arranged keeping the
positions of vowels and consonants

unchanged?
fa) 6 () 9
c) 12 (d) 24

79. What is the number of positive i’"‘:‘{‘
solutions of x +Yy*%~ 5? L
(@) 3 {®) 5 '
© 6 d 9 |

: { rational

the expansion of |

(@ 2 o
6

© 4 @



B1. o wRY & sy Yol m2x 180
3ﬁ'( nzx-my+2=0 q‘-i‘ﬁ >
7

faj mn-1=0
(b) mn+1=0
fc) min=0 oo

(d m-n=0

82. 7% p M g, 0 v 1 F 49 W R A

awafax wemd & % 45 (p, 1), (L

(0. 0 7% wmy figa =0 £ @ (p-
fezc e uc

@) 2

) J2-1
9 2-43
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r—— 2
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@ (1, 43y 3
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84. WA otz AB % sefag ag
B(, 1) %1 5w Ao Tamdz Ap gt
P\ . ©, Tamdz AB % g
TP YA T gy
¥ % duifan fiais #n 87
fa) @ 1)
(b) (39
) @2

@ 0,3 .

85. ABC "% @war faya 2 #m AD, moy
ofriea ) afz A % B (1, 2) % A

a2, 6) %, M BC# wiwm wmy

(@) 3x+4y-18=0

(b) 4x+3y-1=0

fc) 4x-3y+26=0

(d) 3x-4y+30=0

86. 34 79 F wfwo 7 ¥, o = 10

v ek A § B A whEm c
dkx,-,y- 0%7

L

4
g 4.0



g1. Under what condition will the lines

~1)and B(l, 1) be ;
2 e 2 84, Let A3, -))an ) be the end poiniy
mix+ny-1=DaEpdin xS ngya=0be of line segment AB, Let P be the middle
perpendicular? point of the lin€ segment AB. Let O be
the point situated at a distance +/2 unity
faj mn-1=0

from P on the perpendicular biseclo
line of AB. What are the possible

(h) mn+1=0 coordinates of Q7
(g m+n=0 (a) )
{df m-n= 0 (b) (3, 1)

() 22
82. If p and g are real numbers between 0 @ 03
and 1 such that the points (p, 1, (4 9) '
and (0, 0) form an equilateral triangle,
then what is (p +g) equal t0? 7

85. ABCisaneqmlatcraltrianglcandADis
(@) 3 the altitude on BC. |f the coordinates of
A are (1, 2) and that of D are (-2 6,
then what is the equation of BC?

(b) J2-1 (a) 3x+4y-18=0
(c) 213 (b) 4x+3y-1=0

(c) 4x-3y+26=0
d 4-2J3

(d) 3x-4y+30= 0

86. Whatiatheeqmﬁononhccirclewh}q
83. The vertices of a triangle are All, 1), diameter is 10 cm and the equationsd
B(0, 0) and Ctzq.’l‘hcamgular i an

bisectors of the triangle meet at P. What

x—yaO?
are the coordinates of P?
@ x*+y*=1
(@ (L ¥2-1 p
‘b) x2+y2 =25
) (1 J3-)
2 44?2 =100
€ (L 1/2 ¢ x*+y*=10
@ (/2 42-9 (d) x2+y2__%..2y-23is0
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3 g & = a1 TR AR (04) Wi & |
‘.7 bt +y2+2x+2y+1 o 7l F TR i : i mﬁwﬁmwh

g'm“ﬂmaﬁﬂﬁ!ﬁ @m*mﬁm(height)ﬂmwh
fa) (-2, 2 #r= fem mn 2 :
" ¥ (em ) | o B gom |
(C) ( 1+J_, _I-TIE) 160-162 >
(d) I9F A B Fr 77 162-164 15
164-166 24

88. WaTd (parabola) y? =4x T TF ke feien T
x-38 F) wawE o ¥ 94 45° F R i
mtlmmwmmm 91mmﬁﬁmmzm
it -8 165 cm @ %4 71 39% 904 37
fa (11 ‘ ke

b ) 2 2J2) . ) 2

R o i L s- () 51
(d) ((:z;ﬁ) ’ (@) =T A A FE A

92, % F) Wi (median) F 70 ¥
89. FfawaT (hyperbola) 25x2 - 752 = 225 ' -

17 it 5 4 1 50 e 47 @ tozarem
@ 2737
R

fc) V6o

14) 2/6 vk

m (elhp “
(3”“‘!. 5cosu) 8 ‘e)
Yy

49T




g7. A square is inscribed in a circle

2 4 2 + + C i |
x2+Y  +2x+2Yy+1=0 and its sides Sgder heslolowing Bxithe s (04) item,

th 3

are paraliel to coordinate axes. Which at follow :
one of the following is a vertex of the The frequency distribution of height
gquarc? students of a class is given below : of
(@ -2 2 Height (in em) | Number of Students
b 2 -2 160-162 7

( 1 1) 162-164 15
(c) l—]‘-T. —1——?\ -

v 2 V2) 164-166 24
(d) None of the above 166-168 13

91. What is the total number of students

88. A tangent to the parabola y? =4x is s
whose height is less than or equal to

inclined at an angle 45° with the positive

direction of x-axis. What is the point b g
of contact of the tangent and the (a) 15
parabola?
M 39
fa) (L 1) © sl
()i 22 (d) None of the above
1.
(C) (—1 —j:) ?
2" V2 92. What is the median height of the class
(d (12 (a) 16241 cm
i 16341 cm
89. What is the distance bez’chcn t;ne t;wzo5 f;ﬁ (b)
of the hyperbola 25x° — 734" = () 16441 cm
(a) 243 units /(d),-~1€s-41 cm

(b) 43 units
93. The height which occurs Mot frequenty

() fé wite in the class is

@ 2/6 e . (a) 1635 cm —

: 90. If any point on a’;,m; ja the. (b) 1639 cm

(3sing, Scosa). L

 enticity of the cBPee () 164’5 cm

(a) 4/3 (b) &8 771649@

B @ 1/2 s
¢ 2/ (P10
27




. - :(:;Qm L |
Ba wIMIYY Wy
free §

fa/ *% =ity (4ms rhigif?

rrenitagt DR
M W s witm (peroental

rhne

fo) ey ( hisogram )

fd) oW 3ty (pie chart)
S S A (02) v 3 fm At T RER
s

80 swmwladin %2 (tropical tubers) 9 a1 X
{om ) 3 593 v (gm 3) 3 5 deoit =1 AHE
ﬂhs#‘mﬂmﬂ’rﬂmmmﬁmﬂmﬁz
X - 200, XY = 250, £x2 =900 3R £Y2 = 1400

98. Frfefen ¥ 3 2-m wd &7
fa) m(xbmwm
fb) S (X) < s (v
(c) & (X) =y (y)
(d) méaﬂﬁﬂfﬁaqaﬁmmm'

96, ﬁqf%rﬁaamfiﬂm-mmg?

@) X 1 famor orias, % fasn o @
T (strictly) s &,

(b) X %1 foreon o, ¥
aHga: (strictly)?ﬁq%,

oo o @

100. @ whifa § #5-3-%4 2 Ak &

9P(X:4)=P(x=2)%|
97. k¥ 4H #3187
(a) 1/2
fc) 1/4

98. P(X = 3) %1 w71 &7
(@) 135/1024
(b) 5/128
(c) 45/1024
(d) 70/1024

wﬁaléﬁ(oz)m%f%mﬁﬂ%ﬂaam’h
#ifs

7 T 3R 4 Afeensdt % oF wqe F @ 6 g d
s |t 1 e i w2

99. 7 WM & aead: (exactly) 3 @] % 18
&1 A w7 27

(@ 10/33 (b) 30/77

) 100/231  (d) 5/11

#i Wi 71 37
(@) 41/66 ®) 47 /66
fc) 49/66 ) 5360



ediet the

e follow

LA --0”‘.' ""' . '.n.—g
\.-a\v,"v‘",

sl P rhar™

following for the two (02) items

e sum and the sum of squares of the

--"\af"\‘at\()ﬂ!
and weight Y
gven as X
sy? =1400.

(d) Cannot b€
given data

96. Which one of the followin:

cqmsponding to length X (in cm)
(in gm) of 50 tropical tubers are
_ 200, LY =250, $X2 =900 and

(@) Variance (X)> variance (Y)
(b) Variance (X) < Variance (Y )

(c) Veriance (X)= yariance ()

determined from the

correct?

(a) Coefficient of vard f X isf
strictly more fficient ©
yariation of Y.

X i

(b) Coefficient iﬁ?:i.ent :,sf
strictly 168
yariation of Y-

iati same

(c) Coefficient of yariatio? ﬁfnxo 2

as coefﬁcicnt of
satl ot be
jent of varlanor{

(d) Coemcx. e p R e

v n—\ﬂ'“lw

Dhbter the fallowin

Nawing B
¥ Qh
£ two (02) itema

Bar Al

X he A random cariable filowin
Arvarsiy g tion with parameters n - F, g binomial
Further QP(X . 4) = PIX = 2“ and p= k.

97. What is the value of k?

(a) 1/2 () 1/3

(¢) 1/4 (d) 1/5

98. What is the value of P(X =37
(@) 135/1024
(b) 5/128
() 45/1024

(@ 70/1024

Consider the following for the two (02) items
that follow :

A committee of 6
group of 7 gentlemen and 4 ladies:

99. What is the

the committee includes 1y
3 gentlcmen?

(@ 10/33 ® 30177

(¢ 100/231 @ 5/

100- What is
committee includes &

(a) 41/66

(c) 49/66

A




i ¥ y=(1 o8x) srg‘fx#zmﬁai (@) -gin)
i eifsm e
¥ oty ¢ ¢

105. % f(x) 1 g 2 47
(@) (0, )

. (b) (3 )
(€]  os, 20)

(@) ~tan(x/2)+.
(B) ~cotix/2)+c

106. 7F f(x) N y- 3 zm wag & o
fe) tan(x/2)+c 106. %{gg y

(d) cot(x/2)+c (a) 37

el ¢ wEE-a 3 (b)) 457w

~1t8

7 AT A (02) WA % oy Fresffiny we e

Y B f(x) = sin(x), w21 ) #ewm g
b7 B A g(x) =|x)

« Nim {f () glx)) % a4y

%0




Considcr the following for

tat follow : the two (02) items

11 =(1- =
Let the func'ony (1 cos x) l»Wherex;ezm
gnd n is an integer.

101. What is the range of the function?
fa) [0, =)

(b) [0S, =)
fe) [1 =)
(d) (== 03]

n§

102. Whatujydxxequalfé?'-_' -

fa) -tan(x/2)+c
(b)

104, what is lim J*)
x50 g(x)

(a) -sinl

(b) sinl

fc) O

(d) Limit does not exigt

Consider the followmgfortheg,,,m
tlii‘tfollow:

léthe curve f(x)=|x-3|.

#

108. What is the domain of the function f(x)
(@ (0 =)
(b) (3 =)
() (=)
(&) =)=




10s. Friferfia s o fran A1

L f Q% e 2 i
m. aR f a7 wsin FE T %

A 1 s A ¢
e ol . /-3 0 /RS
(a) Fad |
(b) Fae 1
(c) 1313+ 1
(d IMIaMmaAl

R T A (02) wwE ¥ fo frefafa T
Hifm

AR %A f(x) = x2 - 1.

109. lim (f < f (x)} P 37

@ -1
6) 0

7R #ff ABC TF fE 2, B W wvl
AB+ AC=37#TE|

113. nﬁﬁgaﬂ FaFa A 3, A L
Ja #7

fc) 1
d 2

fa) =/6
() n/3

i

110. %77 1 (x) bt x-a1 71
27 e "

' (a) 1/3 a7 garé
) 2/3 a7 g

114, YRGS




108. Consider the following statements :
I. f is one-one function,

II. f is onto function i the codomain
is the set of natural numbers,

Which of the statements given above
is/are correct?

(@) 1 only
(b) 1l only
(c) Both I and II

(d) Neither I nor II

Consider the following for the two (02) items
that follow :

Let the function f(x)=x2 -1,

109. What is lim (f » f (x)} equal to?
(@) -1
(b) 0
(¢ 1

(d) 2

110. What is the area bounded by the function
f(x) and the x-axis? :

(@) 1/3 square unit
(b) 2/3 square unit
() 4/3 square units
(d) 2 square units

AEBC-B-MTH/S5D 33

Consider the followin

B 10r the twe 02) ;
that follow : 103) i

Let x = sech - cos® and Y=8ec* 6 cogt g,

2
111, what is (Z—f} equal tg?

\

4y” +4) ) 4(y% -4

(x? +4) (x? -4

16(y? +4) 16(y% - 4)

——— g SV -9
ST e S

2 2
o | X" 44 |yl 5 . d?y

y“+4
equal to?
(a) 16x (b} 16y
() -16x fd) -16y

Consider the following for the two (02) items
that follow -

Let ABC be a triangle right-angled at B and
AB+ AC = 3 units,

113. What is ZA equal to if the area of the
triangle is maximum?
(@ n/6 @ =/4
fc) n/3 {d) 5%/12
114. What js the maximum area of the
triangle?
(@) V3 /2 square unit
(b) EWM
() V6 /2 square units
(d) V6 square units

[ P.T.O.




P i 7@ P q "o

115, Y xF Y sy
(@) Fa@ p gy sy 77 2
(b) FF&A g fasty 771 2
(c) p o g2 o favft Fn B
(d) p Vg2 3 = b

116. 3R p4g- 10,@%&71%3@??

(@) ¥
X

(b) xy
{C} xloylo

@ [ f)w

mma(oz)m:ﬁ%fm :
R Frfeife v fomm

T A G x B o L

(% f(x) R T B 77 4 4 oy gafig
(origin) @ 7 T 21 =

117. 9% %1 @& 71 87
(@ (44)8 T T v gy
) (-1,4)"5“"*"‘”'"’%%@

(c) hisdy g @ s

Formmr o
Q) w T it
”q,mx,oy‘“ T @

e G

ﬂﬁméz\(oz)mi:ﬁ%
A . fa‘lﬁqfaﬁaa%.
FR G £(x) =) %0 #2 <1

x“, x221

119, limo S () P s 37

(@) 2
(b) 1
fc) 0
(d) " F w54 2

120. fefafaa w44 w faan Hifq .
I.  x=-19 %eH da4 21

I x =19 %R SaFas 2|
I FeA # A A /AR wh A
() #aa |

(b) Faa 1l

(¢) 1311z
(@ FAd1ARAA 1




Gonmdcr the following {4, th
e

(hat follow two (02) itcmg

Let (x4 Yl =xP 1A where ,
integers. » 9 are pogitive

115. The derivative of y wit
(a) depends on p on}:yrcspcct to x
(b) depends on g only
(c) depends on both p and g
(d) is independent of both .

. - i d
116. If p+q= 10, then what is Zy equal to?

(@ 2
X

(b) xy
(c) xloylo

o (&)

Consider the following for the two (02) items
that follow :

The slope of the tangent to the curve ¥= flx) at
(x, f(x)) is 4 for every real nu.mbcr x and the
curve passes through the origin.

117. What is the nature of the curve?
(@ A straight line passing through
S i through
(b) A straight lin€ passing
(-1 4)

(c) A parabo
and focus at (2 0)

@ A parabola with vere®
and focus at (1 0)

mwith yertex

AEBC-B-MTH/85D

lig :
» What is the area bouy,
, ed b
the x-axis and the jj, %Y the curve

€x=47
(a) 8 square units
(b) 16 square unitg
(c) 32 square unitg
(d) 64 square unity

Consider the following f
g lor the two (02) i
that follow : gy Neng

3
Let =T
flx) xg, 51
119. What is limof’(x) equal to?
x—
(a) 2
(b) 1
fcg O

(d) Limit does not exist

120. Consider the following statements
I. The function is continuous &

x=-L
II. The function I8 differentiable &
x=1L

Which of the statements given abo¥
is/are correct?

(a) 1 only
(b) 11 only
(c) Both I and Il

(d) Neither 1 nor Il

(P.T.0.





